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11K. �Γ´b�n�/ABC�	��. :DÚE©O3�ãABÚACþ, ÷vAD = AE. �

ãBDÚCE�R�²©�©O�Γ��løABÚøAC�u:FÚG. y²: ��DE�FG²1(½­Ü).

12K. ¦¤k�ên > 3, ¦��3¢êa1, a2, · · · , an+2, ÷van+1 = a1, an+2 = a2, ¿�éi =

1, 2, · · · , n,Ñk

aiai+1 + 1 = ai+2.

13K. ���ødkn�/´d�
êü¤��>n�/ê
,Ù¥z�Ø3���1�êÑTÐ

�uü3§e¡�ü�ê���ýé�.~X,e¡�ê
´���ødkn�/,§�ko1,¿

�T¹k1�10¥�z��ê.
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Á¯: ´Ä�3���k20181��ødkn�/,T¹k1�1 + 2 + · · · + 2018¥�z��ê?
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14K. ·�¤¢�� �´����I²¡þ���:(x, y),Ù¥x, yÑ´Ø�L20���ê.

�Ð�,¤k400� �Ñ´��. `¯ü<Ó6{��f,d`k?1. zgÓ�`�,¦3��

�� �þ{þ��#�ùÚ�f,�¦?¿ü�ùÚ�f¤3 ��m�ålÑØ�u
√
5. zg

Ó�¯�,¦3?¿���� �þ{þ��#�7Ú�f. (7Ú�f¤3 ��Ù§�f¤3 

��mål�±´?¿�.)Xdù�?1e���,�<Ã{2{��f.

Á(½����êK,¦�ÃØ¯XÛ{�7Ú�f,`oU�y��{�K�ùÚ�f.

15K. �a1, a2, · · ·´��Ã����êS�. ®��3�êN > 1,¦�éz��ên > N ,

a1
a2

+
a2
a3

+ · · ·+ an−1

an
+

an
a1

Ñ´�ê. y²: �3��êM ,¦�am = am+1é¤k�êm > MÑ¤á.

16K. 3ào>/ABCD¥, AB · CD = BC ·DA. :X3o>/ABCDSÜ,�÷v

∠XAB = ∠XCD, ∠XBC = ∠XDA.

y²: ∠BXA+ ∠DXC = 180◦.
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